Find the mlsslng place value from a 6-d Igli number

Find the mikeng nurlen.

" 2+900+4000+50000+10+__  =354912

* 400,000+ 10,000 +900+ _______ +40+2=412942
" 50+70,000+700+3000+0+  =473.750

“ 44+ + 6,000 + 70,000 + 60 + 200,000 = 276,164

"4 + 800 + 0 + 50,000 + 300,000 = 350,864

:

0+300+0+4+ 50000+ = 250,304

" 3+60+ + 5,000 + 70,000 + 600,000 = 675,863

% 3+ 20+ 300 + 1,000 + 90,000 + = 991,323

® 100,000 + 40,000 + 100 + 3,000 + +T=143117
“8+0+3500+ + 40,000 + 300,000 = 349508

" 700,000 + 20,000 + 600 + 8,000 + 80 + = 728 684

" 40,000 + 300,000 + + 5,000 + 0+ 10 = 345,610
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